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Graph of f*

7. The graph of f’, the derivative of the function f, is shown above. Which of the following statements is true
about f ?
(A) f is decreasing for -1 < x < L.
(B) f is increasing for -2 < x < 0.
(C) fis increasing for1 € x < 2.

(D) £ has a local FRAmma 2 x = 0.

(BE) f is not differentiable at x = —land x = L
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10. The function f has the property that f(x), f'(x), and f"(x) are negative for all real values x. Which of the

following could be the graph of f?
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Graph of f

76. The graph of the function f is shown in the figure above. For which of the following values of x is f”(x)
positive and increasing?

(A) a B) b ©) ¢ (D) d (E) ¢
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Graph of f’

80. The graph of f”, the derivative of the function f, is shown above. Which of the following statements must be
true?

L f has a relative minimum at x = 3.
II. The graph of f has a point of inflection at x = 2.
III. The graph of f is concave down for 0 < x < 4.

(A) Ionly (B) II only (C) I only (D) Iand II only (E) I and III only
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AP Calc AB: Testing for relative extrema and points of inflection

SUW)Q cisa el yow* of & Conhnuous fonchion £

First Derivative Test

1. If J\I d,wmyg 5|'§n f;\)m - bt Gd'c’ ‘l'hu'we ka“’b

\okve Mimmun & C .
locaa

2 I fl CW'WWS s\ fom +
kvt naKmom od & -
(locar)

For 1-3, find all relative extrema.
——

+ max-<
5 ks

L f(x)=x"=3x+2
O fnd onhivd Pdn’rs (places uhtre {'=0 o dne)

+ F

”\Q: AX-3 JA— 7
2 7
2-3=D v 2/ F
=73 i o~
X Thwt 15 o rdahwe munirem 0 y
a o x=%
CORY= () -3(3) 2 = 2= It 4
2. f(x)=3x"+4x’-12x* +2

Do) = Iax *ax -28x

—

—

h - at C, Wun Ch¢£6~

NS

S
7

|
: \ \

12+ -24x =D T2 0

4
p(CH-2)=0 NS

v 7T

2 [+ 2)x-0)="0 At ¢ o pdabice mn of -30 @ x=-2

X:D‘"’J“ Wl s 0 I’*Aa\l\\c‘( mox 0(:‘ 2 aj‘)(::[)
¥ b vt B "“\u/( S & rUdve N 0‘: St x=/

Anes
o g 9 the XV
bt?d( wh £1*



)X
3. fx)=x |
| = > é;"-"%‘r
[l 3x D
2
3 =0 o s o rdodie xhrma

For 4-6, find the open interval on which f'is concave up and on which fis concave down.

4. f(x)=x"-3x+2
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For 7 and 8 find any inflection points of £ plets ulure [" =0 oc dae
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**Note: If question asks where the relative minimum/maximum occurs, give the x-value.
If question asks for the relative minimum/maximum, give the y-value.**



Homework 12-05

2003 AB 4

Graphof f*

Let f be a function defined on the closed interval =3 € v £ 4 with S10) = 3. The graph of £, the derivative
of f. consists of one line segment and a semicircle, as shown above,
(a) On what intervals, it any. is f increasing? Justify your answer.

(b} Find the x-coordinate of cach point of inflection of the graph of f on the open interval =3 < x < 4. Justily
YOUr answer.,

fc) Find an equation for the line tangent to the graph of £ at the point (0. 3

(dy Find f(=3) and f(4). Show the work that leads to your answers.
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